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JO0000000000000000Where does the woman
want to go? A. To the shopping center.B. To the dancing center.C.
To a bus stop.How many students did the man believe had taken the
exam? A. Fifty.B. Forty.C. Twenty-five.What does the woman want
to buy? A. Car.B. Carpet.C. We don’ t know.Where does the
conversation most probably take place? A. In a train station.B. In a
bus station.C. In an airport.What does the man think about Paul? A.
He is not hungry.B. He is not angry.C. Heisangry.(d 0 O O O 1501
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OO000000060070 Why doesn” tthe man want to eat
anything for dinner sometimes? A. Because he wants to lose
weight.B. Because he has no time C. Because he is too tired.What
does the woman think the man should do? A. Eat much.B. Have a
good rest.C. Sleep thewholeday. O O OO0 0O 0O O O 0O 0O 80
1100 0O O O www.examda.comWhich of the following was NOT
mentioned as a reason? A. She needn’ t pay for the trip.B. She’ |l
earn much money.C. She can practice her Spanish (LI O OO O ).Who
makes Nancy accept a job in Acapulco? A. Her boss.B. Her
husband.C. Her teacher.What doesn’ t Nancy need to take for her
trip? A. Swimming suit.B. Money.C. Passport..1 O O 0O 0O O O O
0 0O 0110 0O 130 Where is Mary going? A. Home.B. To the
park.C. Waiting for a bus.Why doesn’ t Mary like walking through
the streets? A. It' stoo cold.B. The park is too far.C. Itisn’ t
Interesting.When doesn’ t the conversation most probably take
place? A. Early in the morning.B. Just before lunch.C. Just after
unch.OOOOOOOOO0OO0ODO140 0160 OO

[ www.examda.comWhy does Julia want to leave her present job?
A. Because she wants to teach English in Japan.B. Because she wants
to do something different.C. Because she doesn’ t like the
job.Which of the following countries is Julia most likely to go to? A.
America.B. Australia.C. China.What is Tom going to do? A. He will



let Julia leave.B. He will ask Julia to stay.C. He will find a new job for
herO0OOOO0OOOODOO170 O 200 Who stays with the
children when the speaker goes out? A. His mother.B. His wife’ s
mother.C. His father. The speaker’ schildrendon’ tlike toeatin
restaurants because . A. the food is not deliciousB. they have
to be quiet for a long timeC. they don’ t have enough foodFor
dessert | had some ice cream while my wife Helen had A
coffeeB. mutton with peasC. fresh fruitThe speaker’ s father worked
on the farm . A. very lazilyB. almost the whole dayC. in the
evening100Test I D D 0000000 OOOOOOOOOO
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